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But now it would appear that - Y910 TIVY TRY PRW AP ANYH RYN
a 7P without an accompanying claim, etc. should be a 7ip171.

OVERVIEW

mooIn previously explained' that (in order to understand the question MW X 1
"1 Py M 7Y 17 "0 73R we have to interpret that) the inference from "W
77 1s that three years establishes a 7p11. We consider the field in the possession
of the p>1mn. Generally when there is a dispute between N¥»wY 121X over an object;
nvnw claims that he bought it from 721X7; however j23X7 maintains that he never
sold it to 1¥»Y (and 123X7 can prove that he originally owned the object) the rule is
that the person who is not in possession of the object must prove his case. If 121x7,
the alleged seller, is in possession, then 1w2% must prove that he bought it from
12%7; if Nynw, the alleged buyer, is in possession, then 2187 has to prove that he
did not sell it to Nynw. The same rule should apply to yp7p. However it is difficult
to establish who is in possession of the ¥27p (they can both be standing in the field,
etc.). This is the rule of 711, which we derive from 7v17 MW that whoever was in
the field for the last three consecutive years is considered the prmn, He is in
possession. The other party, the 7v7¥7», must prove his case that he did not sell the
field to the prmmn.

It would seem obvious, however, that if someone is in possession of an article and
another person (proves that it was his and) claims that he never sold it; then if the
P 1n argues that it should be his, merely because he is in possession of this article,
it would be a ludicrous claim. The fact that he is in possession may deem him to be
a thief, but does not confer upon him any rights of ownership. The only way that a
P 1 can claim ownership is if he argues that he bought the article from the
(known) original owner (or it was gifted to him, etc.) Similarly by vpap, if one is
established as a prmn; and claims that he bought it, that necessitates the vy to
prove otherwise. Possession by itself however, gives one no right to anything that
was known to have belonged to someone else previously. M501n questions: If the
%) from 7917 MW is that three years merely establishes the P1nin as a prn, that
1s no reason that he should be awarded the ¥7p without a 7vv (claim).

! See previous 7v 7"7 (X,72) "o,
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mooIn asks:

— 27513 PPV N7 1193 13752 MPINY 81 33577 NYPNT 1INYT XPYD IN1I NN
It is astounding! What did the questioner think when he asked that a 7"Xw 7pm
myw any PRY should be a valid 7pm?! For how is it possible to place the property
in question in the possession of the P11 and give him ownership since he is not

claiming anything. He does not claim that he bought the property or that it was gifted to him,
He merely states that he is living there for three years and no one bothered him. That does not
give him any right to the property. We know for certain that the 7v7v» was the original owner.
How was that ownership transferred to the p>1?! He neither claims that it was bought by him
nor gifted to him. It should remain in the possession of the ¥ v» — the original owner!

Mo0IN answers:
— 102 PN N NN YoV oNh NN Z1ym90 WU NaYrt 1999 7999 91T MY YN

And one can say; that this is what the X773 is asking: since you are deriving the
rule of 21w "3 npin from a TR W, therefore we can say as follows, just as

there by 7v 17 7w by goring three times, the ox is an established goring ox —
— >y AN XOY NPINA XMN NN XY DY WHY NYINT 199 393 NIN

here too by 0°1w '3 npin since the > consumed the produce for three years
and the original owner did not protest, it is established that he will never

protest again; meaning that he is relinquishing his interest in this property —
— 59 5w 199 19 IRT H9Y XA 293 1IYO N9

And therefore even without a claim it should belong to the p°1» for we should

2 If the purpose of a 7Pt is to establish the Ptnn as a P, that he is in possession, then obviously if it is a TX@ 7P
mIvY ony, it would be a meaningless pm, for there is no claim. However according to this X3, the 7% from W
73117, is that we are establishing the status (of the 71 and) of the 2¥7yn. The 7y7yn by not being mn for three years
is conceding ownership; therefore, as N120IN continues, there is reason to argue that even a 7Y ARy RV AP is
sufficient to place the field in the possession of the P>1mn.
? See previous 7¥ 7"7 '01n. Even though, the 7y7yn is protesting now; nevertheless at the end of the third year, when
he did not protest, it became T nnn® 2w NP3, so at that point he relinquished his rights to the property, and was
"' the property to the n1? then. Afterwards he can no longer renege on this 772°m".
* It would seem that the two questions of the X13; the question of 7y W 7 *X and the question 7P ANYH KoK are
sort of a qwo1 0. If the 717 from TvMi MW is to establish the p>1nn as being in possession, then just as by 717 MW
the new status is achieved only by n°y>27 im a3, then by npin the status of possession should be accomplished only in
the fourth year. If, however, the 711 from 7917 W is that the AW wn is 7Y Ama® X9w NP3, that this proves that he is
conceding ownership; then even a 71wy 7ny PRY 7Pt should also be sufficient.
> There is an inherent difficulty with this answer. It is generally assumed that ownership of property cannot be
transferred through 77°ma. Even if the owner would state specifically, ‘T am 2mn this property to you’, there would
be no transfer of property even if a "3 was made. The prevailing view amongst many of the commentaries is that
since the P 1in was silent for three years it indicates that he is relinquishing all his rights to this property, and it is
considered as if he is gifting it to the p>1in and telling him *121 P17 7>.
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assume that the original owner forfeited to the pmmn the rights of the property.

Mmoo offers another explanation:®
— DPIN NAN NPV NIY NPINT XIINIT 599 RPT NN 93 ON

Perhaps we can also answer as follows: that which the X713 asks, ‘do you mean

to say that a 7p without a claim should be a valid 7P, it does not mean that the
P has no claim at all. If that were the case it would be unthinkable that it should be
considered a 711, but rather 71vv 7Y 7RW 7PN here means —

— 8‘[3’)2 13217 NNMIAT NIV T19Y AN 19991399

That for instance the P11 said to the original owner, ‘I bought it from someone

who bought it from you’. This is what the X3 refers to as a 7y 7w PR 7pm.° The Xm)
asks that in this case the 117 should be believed —
— N 41 9959N N3 97 XYY NAT 2157 3197 AN N9T 23 YY 9N

Even though the P> did not say that the individual from whom I bought the
field, bought it from you (the “¥7y»n) in my presence. If the P11 would have
claimed that he (the p>1nn) purchased the field from 323X7 (his 721%) and the p°1mn
also claims that he was present when 12X purchased the field from the v v», then
it would be a 7mvv 7ny ww npin, since the 21 claims that he knows for sure that
his 7211 bought the field from the 7¥7¥» and subsequently sold it to him (the P>11n).
However in our case the 117 does not claim that 7127 >7°7 "»p. In addition, we are
discussing a case where the alleged 721 who sold it to the 111 did not live there

(in the house or field) for even one day. The »>m» cannot prove that his 99w lived in the
house of the 7¥7vn for even one day. If the 2°1n can bring °7v that his 72 lived in the house of
the 7v7yn for (even) one day, then it is considered a 71vv 7y ww 7P and the P17 is entitled to
the property. The reason for this is that since we know that the 721 lived in the house, therefore
the P1n is considered a bona fide buyer. The rule is that n%% Pavw, we argue on behalf of (a
bona fide) buyer.'" If the 791 was here and claimed that he bought it from the vwn (and then

% In this answer we can again assume that the T»*> from 77 W is that the P> becomes a prmn.

" See x"y0,% 1pb.

¥ There are three people involved here: The 7y who can prove that he was the original owner (more than three

years ago), the p>1» who is presently in the field and brings 0>7¥ that he was there for three years, and the 121, from

whom the P 1 (allegedly) bought the field. The P> claims that the 721 bought the field originally from the

qv7vn, and then sold it to the P>1in. The 7217 is not presently here.

% It is considered a myv Y PRY 7pn, since the Pimn himself is not sure whether the 121 actually bought the field

from the ¥y and subsequently that the field is his.

10 See 2,87 1pb.

' This ruling is to protect innocent buyers. When someone buys a field, he cannot be certain how the field came to

be in the possession of the seller. There is always the concern that some original owner will claim that he never sold
3
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sold it to the p11n), the p 1 would receive the field, since it is a 71vw Ay W 7P, Now even
though the 75w is not present, we argue on behalf of the npY? — po1nn, that if the 121m would be
here he would claim that he bought it from the 2¥7y», and coupled with the 7Pt of the P 1 it
would be sufficient to remove the property from the nwn of the 7y7v». In our case however, the
P 1n could not prove that the 721 ever lived in this property, therefore he is not a bona fide np17;
he may have been duped by a swindler (or there was no 2" at all, it is a fiction created by the
pommn).'? 7™3 therefore will not argue on his behalf that the 721 bought it from the aywn."? The
P 11 is also not claiming that he was present when the 121 allegedly bought the house from the
Ay,

— 97 9N %917 NON KD ON 11999 1321 OX Y1 X))

And therefore the p°1in does not know whether his 71212 bought the property
from the 2v1yn or not. When he claims 727 71217 70121 X°199%, he does not mean
that ‘I know that he bought it from you’ But rather he claims that this is what his

101 said to him (the p1n). The P claims that his 727 told him that I (the 121) bought it
from the 2y vn. This is called a 71vv 7ny PRY 72110, because even if we believe what the P inn
says, we do not know for sure (as the P11 himself does not know) that the 2vy» ever sold the
field!"

mooin asks a different question:
— (DWI 8,73 N0P Na2) T TN P92 1Y NOYINT NN “onaax 132 PYNY 199399 NN

The X''aw= is baffled concerning that which the X queries in %3977 739 po»

regarding the three day requirement to establish a 717 MW -
— 1592 YTIPING SN NI SHYINY ON

it to the seller. The new buyer will be at a loss. Therefore 72 steps in and argues on behalf of the last buyer, that his

seller bought the field from the original owner.

"2 See “Thinking it over’ # 2.

"> When the 721 was X2V 77 12 17 there is some connection between the 7121 and the property, therefore the mpY> was

acting within reason when he purchased the property. He is a bona fide np1%. In such a case 7"2 is np19% .

However if we cannot associate the 7121 with the property, we do not know that the 721 had any connection with

the propertys; it is possible (and probable) that the 711 bought the field from a person in the street. It was extremely

careless and unreasonable on the part of the 1 to buy a field from a person who has no known connection to the

property. This 2>1rn is not a bona fide np1?; therefore there is no np19% vy,

' We can now understand that the X3 argues that even in a case where the p*1r» claims that he bought the field

from someone who bought it from the 1 it should be a valid 7pim. The reason is that since we derive from W

717 that in three years he becomes a p1min (the X3 stated that we derive from 797 W that 2% Mwan 77 po3

P2 w2 7 ’*PY), and he is claiming that he bought it, the onus of proof should be on the 7wy» that he did not

sell it to that 7>w. Until the 7v7v» proves otherwise, it should remain in the nwA of the primmn.

15 See (2"x Pr79) XM 11"7 2,712 'O,

'® The x7m3 there in p"2 explains that the difference 79%7% between these two options is in a case where 07y came at

one time and testified that this ox has already gored three times. If we maintain X0 *TW°K?, then the ox becomes a

7y immediately, and the next time he gores he is 7v17 "m>wna 2>n. If, however we maintain X123 *T13°K?, then since
4
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Is it to establish the ox as a habitual gorer, or is it to establish the person as a

habitual derelict in his duty to control his ox. This is the query in 23777 7%°3. The question is -
— NI NN MMYINTT XINM VIVON

Resolve the query from the X3 here that it is 77790 97999KY -
— 915 NP RPA MNAI 7) NIY 1123 TINN 9IY NN RYIN 299N 17"1)3?%‘;7‘1’

since the XN 29377 say; ‘just as a 77 MW since he gored three times he is

extracted, etc.” from being a on and he becomes a 7v1n. We can derive from their statement
that the three days is X110 *T¥K? -
— ®mxanna 99395 791 NI INT 5PY229 NN TY 1Y NI N92) YTIVWIND INY

For if the purpose is 8723 "7w°KY; the owner is not a 7y until the fourth mmas,

for only by the fourth 7r°a1 is the owner a 7¥1%2 to disregard the warnings —
— 1PYI29 DY NIPY TY MNIND WHY HY 92y KD 1227 12 19NN YLV NN NIVWIY

for when the ox gored the third 7r7°21 and they warned him a third time (once
after the first 7m°a1, a second warning after the second 7m°33, and a third time now
after the third 7r°a1), the owner did not as of yet disregard three warnings until

the ox will gore a fourth time, only then should the owner be considered a 7. The 3717
RUX said 791 NPIIA 9 0P on NP R P M 3 maaw 13,"? however according to the opinion
of X123 *TY°KRY, the owner ceases to be a on only after the fourth 731, not the third, as the 3717
RPN contend.

N1B0IN answers:
— NN IIPNRY 9NT NP NINT NINDT 1Y W

And one can say that the X713 here in 2"2 follows the opinion of the one who
maintains X710 Y7ORY. Therefore it is understood why the X723 here says 121 M1 '3 mawn.

moon however anticipates the following question. The query of X0 >TIWXY or X2 STWRY is
raised by the X7 mx. If the XX 2917, who were D°Xin, state that 121 M1 s iawn, that would
imply that the X¥IX *2917 maintain that it is X730 >7W°R2, how can there then be a query by the
DR if it is X723 *TWKY. MO0 responds:

the owner was warned merely once, he is not obligated yet to pay 7y m>wn for the next 7m°a, until the owner is
warned three times.
' The n"a71 A3 amends this to read *Rp72.
'8 nyooIn in this question (as well as in the first answer) assumes X123 *T°X? to mean literally that the owner must be
a 7. He (deliberately) ignored the warnings three times.
' moon is seemingly interpreting 131 on npinn XY as referring to the owner as a on and a Ty,
20 There are no actual 77 in "2 who maintain X710 >TW°R? or X123 XT1¥°K?. Rather, mooin is referring to each side of
the query as a 7"n.
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— 1 KDY 199997 9IUN 19799207 XN 199N XY RYIN 2999
And the XX °57177 did not say the statement that "\21 M '3 AW 7900 W 77,
but rather they merely said that we derive 21w '3 NPt from 797 9 and they
did not say any more. The statement of 131 M3 '3 MW 797 MW 71, was not made by the
XWX 3717 but rather by the X317 N0 here, who indeed maintains X0 >T19°X?. However the

X123 *7oxY 7"'n will maintain -
— NIIT TN WHUM NYY XIANT MININD WIUN 13959

That we derive 2°12 '3 NP1 from the transgressing of the three warnings given to

the owner and we do not derive 2°1% "3 NP1 from the three gorings of the ox. The
7"a of X123 "y would have worded the derivation from Ty W differently.”!

mpoin offers a different resolution of the matter:
— DININN NPT MPINM 1NPY P98 PR N2 SNIYINDT 9INT NPT TV
And furthermore; we can say that our X210 can be in accord even with the 7" of
X723 7R, for even according to the 7"» of X923 >7wRY it is not required that
it should be established that the owner is disregarding the warnings, i.e. that he
must disregard the warnings three times before it is considered &723 *773°X%. This is not so —
— 2N XD NOYINN NN TY 19 ONY
For if this were so, that according to the X723 *TW°X? 7"n, the person does not
become a 7V until he disregarded three warnings, then the ruling should be that
until the fifth goring, the owner should not be obligated to pay full damages of a
7vM. At the fourth goring the owner was not as of yet a 7917, The owner will only be a 737 if he
disregarded three warnings. Before the fourth 7r°31 he has only disregarded two warnings, the
ones after the first and second 731, He will have disregarded the third warning only after the
fourth nm. It is only then that he is a 73m. Therefore, he should be 21 a 27w P11 only on the
fifth 71 after it was established that he is a 7911.%* Since everyone agrees that he is 211 even on

the fourth 131, therefore it is obvious that X123 *1¥°X9, does not meant that the owner must be a
NIRINTA MWL TN -

*! Perhaps he would have said 121 an npn KX NIRING '3 9 929w 1D TR MY 71, or something similar.

2 mooin in his question (as well as according to the first answer) maintains that even if X723 >75°X> means that it is
necessary for the owner to be a NIXIN72 M2 7V, nevertheless he would be v *M>wn2a 21nn even after the fourth
7mAl. The reasoning is that when the owner was warned after the third 7r°33, the owner was warned three times and
has already disregarded two of these warnings ('3 '2 M°al); when the '7 731 actually occurred it was because the
owner already disregarded the third warning, hence he is a mMXIn72 M2 9 even before the fourth nmo, by
allowing his ox to be na the fourth time (0"nna “¥1). The second answer of MoIN, however will maintain that in
order to be 11X7N72 712w the ox must actually inflict a damage for which it is liable. The mere fact that his ox was not
being watched is not sufficient to consider him a n%7ni2 7v1. Therefore the X723 will not become a 7v until after
the n°y>27 77°31 and will not be liable for w"1 until the n°w>nn AMAL
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— 1Y NMIYIY 273 NIV Dy Y3 2311119"11’\’) 1998 NON
But rather X123 >719°X? means that it is necessary to inform the owner every time

his ox gores in order that he guard his ox. The warnings to the owner are simply to
make him aware of his ox’s doings, so he should not claim later I was not warned sufficiently.
Three warnings are sufficient.

IN1Y PINNY NN NOYN IYT XAPH 01PN Y1)
But nevertheless, even if we maintain X123 7T1W°R> the obligation of payment for
the damages of the ox depends on the fact that the ox became accustomed to

gore. Therefore as soon as the ox gored three times and the owner was warned three times he is
Q%W P11 20, even though the owner was not established as a 7v. It is the 7w who is the 791 not
the owner.

SUMMARY

The question 121 P11 7NYH XOK, can be understood in two ways. A. It should be
considered as a 77°m, on part of the 7wavn. B. If the P 1in claims 73217 701271 X°1797
73°n, he should be believed even if it was not >7°7 *»p and also not X1 717 7°2 97.
The X737 n°30 which states ™21 an NP KXY NYPA '3 AW 1199, can either go
according to the 7"n of XN RTWKR?, and it was not said by the *27177 XWIX; or it was
said by the RwIX °2737 and even the 7"n of X123 7w K> does not require that the
owner should be a MXIN72 MWL TN,

THINKING IT OVER
1. Mmoo explains the question of "1 7P AnNYn X9X in two ways. What answer
does the X7nx give to this question according to each of these explanations?

2. In the case of 21 N1 X°1991; what would be the 17 if the P 1in has a valid 0w
from the 79m; would we say mp1% j17awn?**

3. Why does the &"awn ask his question after the X3 asks 21 AP Invn ROX; the
question should be asked when the X723 previously stated '3 mawn 73127 MW 07
mma?

* The term *1¥°X? (at least according to the X723 *71¥°X 7"1) would mean to warn or testify as in 2°7y NX7Y7, but not
in the usual term of 7¥1 that he is habitually derelict.
** See footnote # 12.
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